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1 BRTAL-VHEREHESF-LA] 8 4 5 9 1 10 5 15 9 6 5 11 32 35 10
2 |BE#ma-vEEaREL7-L8] 10 2 5 7 10 6 5 11 10 10 5 15 30 33 15
3  |Emimak—vitEEERESF-Lc| 12 6 5 11 10 6 5 11 8 2 5 7 30 29 21
4 |sHmAs—viEEEHESF-LD| 12 10 5 15 12 2 5 7 8 2 5 7 32 29 20
5 FREELY", A 8 2 5 7 12 6 5 11 10 6 5 11 30 29 21
6 FREELY", B 10 10 5 15 8 4 5 9 11 6 5 11 29 35 10
7 BPLDEA 13 10 5 15 11 10 5 15 12 6 5 11 36 41 4
8 SPLNEB 13 10 5 15 8 6 5 11 7 2 5 7 28 33 15
9 FUbBA 11 4 5 9 8 4 5 9 10 2 5 7 29 25 28
10 RALpA 11 10 5 15 11 10 5 15 9 10 5 15 31 45 1
11 | BABAN vt EZEEHESA] 8 4 5 9 6 2 5 7 9 4 5 9 23 25 28
12 | EXREMAK—VHEREHERB| 9 6 5 11 9 2 5 7 11 7 5 12 29 30 19
13 | EXREAR—VHEREHERC| 7 2 5 7 11 10 5 15 12 10 5 15 30 37 8
14 AR—F> 9 7 5 12 17 10 5 15 9 6 5 11 35 38 6
15 MARBLE % STAR—A 10 6 5 11 10 4 5 9 14 10 5 15 34 35 10
16 MARBLE*STAR—B 8 4 5 9 11 10 5 15 12 10 5 15 31 39 5
17 E—FI74X 11 6 5 11 10 6 5 11 10 10 5 15 31 37 9
18 WHMmAN-VHERTESA | 11 2 5 7 9 6 5 11 13 4 5 9 33 27 26
19 WHMAF-YHLERESB | 11 4 5 9 11 6 5 11 7 2 5 7 29 27 26
20 [EEhAR—VEEZRSHESA]l 10 10 5 15 7 4 5 9 9 6 5 11 26 35 10
21 | EEmAR-VEEREHmESB] 8 2 5 7 9 6 5 11 10 6 5 11 27 29 21
22 LEFIRF/NEFERAF— L 9 10 5 15 14 10 5 15 13 10 5 15 36 45 1
23 EEANF/DNEFEBF—L 9 7 5 12 11 6 5 11 15 10 5 15 35 38 6
24 EEI)7(5—X 7 6 5 11 10 6 5 11 8 4 5 9 25 31 18
25 Erv~XEZF 11 10 5 15 9 2 5 7 12 6 5 11 32 33 15
26 |ZRKRFAR-v#EZERESA] 8 2 5 7 9 2 5 7 9 2 5 7 26 21 31
27 | ZAMmAR VR EHESB] 10 2 5 7 13 6 5 11 12 6 5 11 35 29 21
28 F—LE]I| ZHA 7 4 5 9 8 2 5 7 8 4 5 9 23 25 28
29 F—LE)I| LB 7 2 5 7 11 7 5 12 14 10 5 15 32 34 14
30 F—L2)I| JIlixHE 13 4 5 9 8 6 5 11 9 4 5 9 30 29 25
31 Ly 18 10 5 15 16 10 5 15 13 10 5 15 47 45 1
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32 FME#E 14 10 5 15 6 2 5 7 6 4 5 9 26 31 4
33 M7 TNREI—EEKA—ILY 11 4 5 9 11 4 5 9 9 4 5 9 31 27 5
34 EAXD1ZT 11 4 5 9 8 4 5 9 6 4 5 9 25 27 5
35 EEL—x—X 11 4 5 9 8 4 5 9 4 2 5 7 23 25 7
36 Ly 1=FA 12 10 5 15 8 10 5 15 11 10 5 15 31 45 1
37 Ly a=7B 12 10 5 15 7 6 5 11 10 10 5 15 29 41 2
38 Ly a1=7C 6 6 5 11 9 4 5 9 8 10 5 15 23 35 3







